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Section type : Online
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Section Marks : 75
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Sub-Section Number : 1
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Question Shuffling Allowed : Yes

Question Id : 6326864369 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Question Numbers : (1 to 20)

Note: In questions numbered 1 to 20, a question is followed by data in
the form of two statements labelled as (I) and (II). You must decide
whether the data given in the statements are sufficient to answer
the questions. Using the data make an appropriate choice from (1) to
(4) as per the follewing guidelines:

{d} Mark choice (1) if the statement (I} alone is sufficient to
answer the question, but (II) does not answer the question.

(h) Mark choice (2) if the statement (II) alone is sufficient to
answer the question but (I) does not answer the guestion.

(c) Mark choice (3) if both the statements (1) and (II) are
sufficient to answer the guestion but neither statement alone is
sufficient.

{d) Mark choice (4) if both the statements (I) and (II) together
are not sufficient to answer the question and additional data is
required.
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Question Number : 1 Question Id : 6326864370 Question Type : MCQ Option Shuffling : No Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Correct Marks : 1 Wrong Marks : 0



If a,b and care sides of a triangle, is it a right angled

triangle?

_.:;,;‘-.Jib’uzsuéa U ‘gl S Lic b ‘a i

(i) a<b+ec.

(ii) a,b,c are consecutive integers.

-Jtintegerssit-a, b, ¢

Options :
1. %1

2. %)
3. %3
4.9 4

Question Number : 2 Question Id : 6326864371 Question Type : MCQ Option Shuffling : No Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Correct Marks : 1 Wrong Marks : 0

Is the integer n a prime?
_gﬂﬁéh{hligﬁkf

(I) (n+1)? is even.

= (n+ 1§

(II) n+1 is prime.

_gmﬁLg11—1

Options :



1. %1
2. %)
3. %3
4.9 4

Question Number : 3 Question Id : 6326864372 Question Type : MCQ Option Shuffling : No Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the mean height of the students in a class of 40

students?
ol O b 40 szl

(I) The total of the heights of the students in the class

1s 42. 50 meters.
U K 4250 i A S Ut sla ]
(IT) The class has equal number of boys and girls.

_C'_’..U(}L“' Ju;"d/._".-l:-' l&;}ii.,J'E' (el

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 4 Question Id : 6326864373 Question Type : MCQ Option Shuffling : No Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the area of that rectangle?

sy p

(I) Perimeter of that rectangle is 34 cm.

_.»_/J’ 34 421K S

(II) Length of the diagonal is 13 cm.

-4;,,Lf'13¢uui 1Uﬁ5Jife

Options :
1. %1
2. %)
3.43
4. % 4

Question Number : 5 Question Id : 6326864374 Question Type : MCQ Option Shuffling : No Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Correct Marks : 1 Wrong Marks : 0



Is the positive integer n even?
=P n }J:J».J:!:yr

(I) (n+3)? is divisible by 9.
e SFe 9 (n+ 3)?
(II) (n+2)? is an odd integer.

_?}LAJU;..{!(H + 2)?

Options :
1. %1
2.9
3.%3
4. % 4

Question Number : 6 Question Id : 6326864375 Question Type : MCQ Option Shuffling : No Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the radius of the sphere?

- P gL

(I) Surface area of the sphere is not more than 144m cm®

-dfﬂi‘:r}fg? 1447 cm’ ﬁ;?i,f.gfi\_{r

(II) Volume of the sphere is not less than 288m cm?.

-q;uf?;;}fJLZBSHcnﬁ:uﬁﬂkf'

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 7 Question Id : 6326864376 Question Type : MCQ Option Shuffling : No Display Question Number

: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Correct Marks : 1 Wrong Marks :
What is the value of ¢ ?

-L;}}“f;yﬁLfdfc

(I) a b and ¢ are real numbers and b+ ¢ = d.

b+c= duﬁu"ﬂ}(}? c.sl a, b

(II1) d —b =50.

Options :



1% 1
2.% 2
3.¢3
4. % 4

Question Number : 8 Question Id : 6326864377 Question Type : MCQ Option Shuffling : No Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the common difference of the Arithmetic Progression?

_a..l‘-ﬂ:? /'r'l; b/;:,?i)i{,g_}b?

(I) The sum of its first 20 terms is 580.

-« 580456844 S 7 204

(II) The eleventh and the sixteenth terms of the Arithmetic

Progression are 31 and 46 respectively.

e 461 312 AR QKU 16 il

Options :
1. %1
2.¥2
3.%3
4, % 4

Question Number : 9 Question Id : 6326864378 Question Type : MCQ Option Shuffling : No Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the average of p,q,r and s?

_ﬁ:.g@.mgs »p,qr

() 3(p+q+s)=63andr=3.
3(p+q+s)=63.r=3

(LI) pLyg ¥r=5F24.

Options :
1.¥ 1
2. %2
3.% 3
4. % 4

Question Number : 10 Question Id : 6326864379 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the percentage of defective items produced in the

factory?

e VS g P S PB L]

(I) The total number of defective items produced in that

factory 1s 450.

e 4505087 2 Mt A S AL L

(II) The ratio of defective items to non-defective items is

50 : 1250.

250 1 1250 = S gy sl sl g1 P

Options :
1. % 1
2.9
3.%3
4. % 4

Question Number : 11 Question Id : 6326864380 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If ACB is a straight line, what is the angle 2ZACD 7

Kl L ACDT 15 LIACB /|

A D
(I) DC is perpendicular to CE.
C
(IT) 22ECB =3+ACD. E
B

Options :
1. %1
2. %2
3.3
4, % 4

Question Number : 12 Question Id : 6326864381 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the value of r in the following triangle ?

Sl idrotads i

(I) p+q=110° 2 :

(I1) g +r=120°

Options :
1.% 1
2. %2
3.%3
4. % 4

Question Number : 13 Question Id : 6326864382 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :



What is the total enrolment of students in the class?
LS SE Ll Sl FE A feslaL]

(I) The number of boys and girls in the class are in the

ratio 1: 4.

-¢ 1:4 :,Hu’;lﬁJ;y'ngsf&ut;ﬂaw,f_g

(II) The total enrolment of students is a twodigit perfect

square.

unl pLass ol L /. =S PEA S

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 14 Question Id : 6326864383 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the height of the tower AB?
) J?Lf",*!dj ABLx L

(I) Seen from a point C in line with B the angle of

elevation of A is 30"
-e-30°.2008 A;r;_ﬁr;.ﬁf. B:?ng(eg;:.f:fji c/1

(II) Seen from another point D in line with B the angle of

elevationof A is 45°.

-« 45°0 IS L AT B 3L B2Lbbkse 3L D/l

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 15 Question Id : 6326864384 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :



What is the rate of simple interest on the term deposit?
_é.t'ﬁ_l,_fﬁrﬂf;ub{,:#}gh_w

(I) The amount deposited is Rs. 50000.

e 500007 sz

(II) At the end of the term the amount received is

Rs. 56000.

~Ue12 560007 22 f b g 1 st

Options :
1. % 1
2. %2
3.%3
4.9 4

Question Number : 16 Question Id : 6326864385 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the present age of the mother?
PRy ST I

(I) After five years, the mother will be twice the age of

her daughter.
< Sl FSE S A SUmtdLs

(II) Fifteen vears ago the mother was twice the age of her

daughter five vears ago.

_%Jbéhﬁpﬁﬁ:éfdlé ‘/furJUL#;JquJ,C::

Options :
1. % 1
2. %2
3.%3
4.9 4

Question Number : 17 Question Id : 6326864386 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Amongthefive students A,B,C,D,E each scoring different marks

in an examination, who scored the lowest marks?

B LS e et S S o B I LIP Gy A B,C,D,E
(I) D got lower marks than only C and E.
_yffbat'ﬁif(uf#mﬁ EsCl2D
(II) B got higher marks than A.
Kbt ifts L A B
Options :
1. %1
2. %2
3.¢43

4. % 4

Question Number : 18 Question Id : 6326864387 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Is A taller than B?
WL Bl BAY

(I) C is of the same height as that of A and B.
~e sl Z.J"lf'jhj B s TAJ*L:?::IJC
(IT) B is not taller than C,

_L.u'ﬁ}uu':¢.w‘£ C j B

Options :



1. ¥ 1
2.% 2
3.% 3
4. % 4

Question Number : 19 Question Id : 6326864388 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many brothers does A have?

-uﬁébﬂéfziiﬁ
(I) A’ s father has three children.

e gl A

(II) A has two sisters.

U o A

Options :
1. % 1
2. %2
3.3
4, % 4

Question Number : 20 Question Id : 6326864389 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



How is P related to R ?

_+wﬁf¢ R;:.C/LU"'(’P

(I) A is a brother of P.
e JUE PA
(II) R is a brother of A.

_af.befK AR

Options :

1. %1

2. %2

3.%3

4.9 4

Sub-Section Number : 2
Sub-Section Id : 632686485
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 6326864390 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the questions 21-30, each contains two pairs of groups { of
letters or letters and numbers). The pattern that appears in
one palr should be followed by the other pair also. Observe
the pattern carefully and fill in the blanks appropriately.

S (el by ) S s S o R 9 i g ke S g 3021
e Us o Ui Ml gal 2 g3 S50 (3 = 1 R e aigel i 5
Sy S sda B gl S ealia e S Al ga



MN @ HS ¢ GT

(1) BY
(2) CX
(3) Dw
(4) EV

Options :
1.¥1
2. %2
3.%3
4, % 4

Question Number : 22 Question Id : 6326864391 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the questions 21-30, each contains two pairs of groups ( of
letters or letters and numbers). The pattern that appears in
one palr should be followed by the other pair also. Observe
the pattern carefully and fill in the blanks appropriately.

S (el s m) e 55 S oS R Jlpe e Y15 30421
i U g e nigal 2 pu sl (550 (5 ) B e aiged e 5T
S S usba B gl g S ealia e a 1S Algal

BKEG : YPVT :: CFIL

(1)  XVRN
(2)  XUOR
(3)  XRUO
(4)  XURO



Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 23 Question Id : 6326864392 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

In the questions 21-30, each contains two pairs of groups ( of
letters or letters and numbers). The pattern that appears in
one palr should be followed by the other pair also. Observe
the pattern carefully and fill in the blanks appropriately.

Sl (Mol by a) US55 S o f 5 I g s Y 5 30-21
tln Ui o e ndgui 2 2 555 (5 = ) R e nigel e 55
S S Ut A sl S ealie j8 IS s

KNIP : PINK

(1) READ : DEAR
(2) FAIL : LIFE

(3) BARD : DRAB

(4) ALMS : SLAM

Options :
1. %1
2. %2
3.¥3
4, % 4

Question Number : 24 Question Id : 6326864393 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the questions 21-30, each contains two pairs of groups ( of
letters or letters and numbers). The pattern that appears in
one palr should be followed by the other pair also. Observe
the pattern carefully and fill in the blanks appropriately.

S (el by m) e 5 S o R 2 Jlee e Y15 30421
i Ust g e migal 2 pu 53 (555 (9 o) B e Al el e 555
S S usba B gl g S ealia e a 1S Algal

ICET : OIKZ :: - YQOV

(1) SKJP
(2) SKIP
(3) SLIP
(4) TKIP

Options :

1. %]

2.92

3.% 3

4. % 4

Question Number : 25 Question Id : 6326864394 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

In the questions 21-30, each contains two pairs of groups ( of
letters or letters and numbers). The pattern that appears in
one palr should be followed by the other pair also. Observe
the pattern carefully and fill in the blanks appropriately.

S (Seel s m) = S 55 S o R R i e Y15 30421
i Us o el gad 2 32 (5550 (5 = S B e Al gal e 5
s g S upha JB gl S ealie j g8 g 1S A gl



PLAN @ MIXK :: MAPLE

(1) HNOJX
(2) HYNIC
(3)  JYNPC
(4) JXMIB

Options :
1. %1
2. %)
3.% 3
4.9 4

Question Number : 26 Question Id : 6326864395 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the questions 21-30, each contains two pairs of groups ( of
letters or letters and numbers). The pattern that appears in
one palr should be followed by the other pair also. Observe
the pattern carefully and fill in the blanks appropriately.

Sl (Mol by a) US55 S o f 5 e g s Y 5 30-21
i Up o e ndpad o g3 (5550 (25 S R e miged e 55
s g S ppda A gl S ealia jgb an S A ga

CAR1 : AYP2b :: DEPS

(1) BCM3
(2) CDN3
(3) BCN3
(4) BCN2

Options :



1. %1
2. %2
3.¢3
4, % 4

Question Number : 27 Question Id : 6326864396 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the questions 21-30, each contains two pairs of groups ( of
letters or letters and numbers). The pattern that appears in
one pair should be followed by the other pair also. Observe
the pattern carefully and fill in the blanks appropriately.

S (el b p) S ) T S oms R 5t I e Y15 30-21
i Up o e adpal o g3 (550 (25 S R e Al gel e 55
oS S B JA sl S eulia 8 S s

(1) 54
(2) 52
(3) 51
(4) 50

Options :

1.¥1

2. %2

3.%3

4. % 4

Question Number : 28 Question Id : 6326864397 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the questions 21-30, each contains two pairs of groups ( of
letters or letters and numbers). The pattern that appears in
one palr should be followed by the other pair also. Observe
the pattern carefully and fill in the blanks appropriately.

S (el by m) e 5 S o R 2 Jlee e Y15 30421
i Ust g e migal 2 pu 53 (555 (9 o) B e Al el e 555
S S usba B gl g S ealia e a 1S Algal

©F) :@pPT:___ :G8RV

(1) @®HL
2) @M
3) @IN
4) @Ko

Options :
1.v 1
2. %2
3.%3
4, % 4

Question Number : 29 Question Id : 6326864398 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the questions 21-30, each contains two pairs of groups ( of
letters or letters and numbers). The pattern that appears in
one pair should be followed by the other pair also. Observe
the pattern carefully and fill in the blanks appropriately.

S (M) by m) Sy s S om0 s e S5 30-21
o Up ot e mdgal 2 2 BT 2 ) R e i L g0
s S pgfa B gl S oallia jg e S Al ga



LXM © 12X13 :: UXW -

(1) 31X33
(2) 28X30
(3) 25X21
(4) 21X23

Options :
1. %]
2. %2
3.%3
4.9 4

Question Number : 30 Question Id : 6326864399 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

In the questions 21-30, each contains two pairs of groups ( of
letters or letters and numbers). The pattern that appears in
one pair should be followed by the other pair also. Observe
the pattern carefully and fill in the blanks appropriately.

Sl (el ) S 5 S s R i o SV 30221
i Up o e ndpad 2 a3 5550 (25 = S A e ged e 5T
sy S usda JB gl S ealia j 1S adgad

R@OL:B®J =R_T :SGAIK

Options :
1. %1
2. %2
3.%3



4.9 4

Sub-Section Number : 3
Sub-Section Id : 632686486
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6326864400 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Note: In questions numbered 31 to 35 pick the odd thing out.
o g2 a5 2luel alb s 35 1531 - B 159_11

i

8, 1o, 23, 35, 48, 63, 80

(1) 23
(2) 15
(3) 80
(4) 63

Options :
1.¥ 1
2. %2
3.% 3
4. % 4

Question Number : 32 Question Id : 6326864401 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Note: In questions numbered 31 to 35 pick the odd thing out.

o g2 a5 oluel albk s 35 1531 O g :lj_‘i



Mars, Saturn, Sun, Mercury, Venus, Neptune, Jupiter

(1) Neptune
(2) Venus
(3) Mercury
(4) Sun

Options :
1. %1
2. %)
3.%3
4.9 4

Question Number : 33 Question Id : 6326864402 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note: In questions numbered 31 to 35 pick the odd thing out.

cuord g a5 oluel albk s 35 1531 O g ::1_5_‘#
Tiger, Lion, Elephant, Bear, Fox, Cheetah, Hvena,
Leopard

(1) Bear

(2) Elephant
(3) Hyena
(4) Fox

Options :
1. %1
2.¥2
3.%3
4. % 4



Question Number : 34 Question Id : 6326864403 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Note: In questions numbered 31 to 35 pick the odd thing out.

cuord g a5 oluel albk s 35 1531 O g :l}_‘i

19, 23, 21, 29, 43, 67, 13

(1) 19
(2) 43
(3) 27
(4) 73

Options :

1. #* 1

2.% 2

3.3

4, % 4

Question Number : 35 Question Id : 6326864404 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Note: In questions numbered 31 to 35 pick the odd thing out.

o g2 a5 oluel albk s 35 1531 O g :lj_‘i



RUN, WALK, SIT, FIT, JOG, STAND, JUMP
(1) RUN
) ¥
(3) SIT
(4)  WALK
Options :
1. %1
2.¥2
3.%3
4. % 4
Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

4
632686487
Yes

Question Number : 36 Question Id : 6326864405 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks :

Note Each of the questions from 36 to
definite pattern, observe the

suitable ones.

-_!_q_n_! oo L= ._(.'__}l JI Gal 33 oy o O | goa 15
vsdse sl g2t eanlae LSl :
- s _}—‘3 S ! —w
- 1 4 2 2
00, 40, 335, 28;, ,22;,20,185

(1) 25

(2)  24-
(3) 23
4) 21z

Options :

45 follows a
same and fill in the blanks with



1.v 1
2. %2
3.%3
4, % 4

Question Number : 37 Question Id : 6326864406 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Note : Each of the questions from 36 to 45 follows a
definite pattern, observe the same and fill in the blanks with
suitable ones.
rdand gal s 5l Q) aw y gas' ¥ las 45 L5 036
v3ldso 23) S eglas LS w! . Ligs)
Ll e}l

ceuS 2 S !

3 o 8 18, T2 , 2160, 15120
(1) 296
(2) 432
(3) 350
(4) 360
Options :
1. % 1
2. %2
3.% 3
4.9 4

Question Number : 38 Question Id : 6326864407 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Note : Each of the questions from 36 to 45 follows a
definite pattern, observe the same and fill in the blanks with
suitable ones.
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i, (, 8, 16, 43, 107, 232,

(1) 452
(2) 419
(3) 396
(4) 448

Options :

1. %]

2. % )

3. %3

4. ¥ 4

Question Number : 39 Question Id : 6326864408 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a
definite pattern, observe the same and fill in the blanks with
suitable ones.

,.\_!_q_,u_! oo L= ._.'__}l L'J'_g_m S Ry W Q"&I'j_.-u 15 L5 36 .:15._1
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8,20,40,70,112, 240
(1) 158
(2) 168
(3) 188
(4) 178
Options :
1. %1
2.¥2
3.%3

4. % 4



Question Number : 40 Question Id : 6326864409 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a
definite pattern, observe the same and fill in the blanks with
suitable ones.

-_!_q_,u_! ;_.-_\l_'bl- ._(.'__ll ,\_!ll_g_.'.l.l S Ry W ;!"&I'_g_.-u 15 L5 36 .:'l_f_,_l
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3 By 9, 15 , J9, 45, B9
(1) 21
(2) 23
(3) 25
(4) 24
Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 41 Question Id : 6326864410 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Note : Each of the guestions from 36 to 4b follows a

definite pattern, observe the same and fill in the blanks with
suitable ones.

rigad gl Sl Slgw 3y a0 0¥ gw 40 L5 306 g
vsldso 33) p=2E eaglas LS w! . Ligs)
cipgrS yh 4 ! e blLall



(1) 28
(2) 29
(3 31
(4) 34

Options :
1. %1
2. %2
3.%3
4.v 4

Question Number : 42 Question Id : 6326864411 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 4b follows a
definite pattern, observe the same and fill in the blanks with
suitable ones.

pdaad gl S S g g er o 0¥ gw 45 L5 36 o O

vsdsa 3t 33 < sl LS gl - Lig<,
e g I i 2
oS 3 g€ ! e bl

9, o, 1g, ., 49, 40, 23

(1) 16
(2) 20
(3) 22
(4) 24
Options :
1. %1

2.¥2



3. %3
4. % 4

Question Number : 43 Question Id : 6326864412 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Note : Each of the questions from 36 to 45 follows a

definite pattern, observe the same and fill in the blanks with

suitable ones.

rogad gols Sl Gl gw oy a0 OV gw 45 L5 36 e
v3ldso 23) S eglas LS w! . Ligs)
coprS ¥y g€ el _w blaldl

i, & 25 9. 3 928, 4, . 5, 196
(1) 68
(2) 65
(3) 63
(4) 60

Options :
1. %1
2.¥2
3.%3
4, % 4

Question Number : 44 Question Id : 6326864413 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Note : Each of the questions from 36 to 45 follows a
definite pattern, observe the same and fill in the blanks with
suitable ones.

g0 o> Sl Jhgw y o OV gw 4 L5 36
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4096, 1024, 512, 384, _  , 480, 720

(1) 460
(2) 420
(3) 394
(4) 384

Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 45 Question Id : 6326864414 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Note : Each of the questions from 36 to 45 follows a
definite pattern, observe the same and fill in the blanks with

suitable ones.
—gad pols Sl
usldss ) pE eaglhs LS w! L Ligs)
eSS ¥y ¢S gl o blLaldl

L'J'_g_m Sy Q'&I'j_:.u 15 L 36 .:15._1

L; 4, 10, 22, 46, 94,

(1) 120
(2) 140
(3) 170
(4) 190

Options :
1. %1

2.%2



3.%3

4.9 4

Sub-Section Number : 5
Sub-Section Id : 632686488
Question Shuffling Allowed : Yes

Question Id : 6326864415 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Question Numbers : (46 to 48)

(b) Data Analysis (Marks : 10}

A1 53l 8 ([U :QELL.E)

~—_

Temperatures on different days of a week in Hyderabad are
given in the following graph. Based on this data answer the

questions 46-48.

- o s P 4 i . i3 s BT ey
Usiy 46-48 = 14 ur,'l.r’._f’..f__ﬁ Lo/ b;_,'!';._,awrr_f.;%..fli.j,?n;? i/ Lrt-"‘.-""‘}

-
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43

=R
TP » (in degrees)
a0
B (e 0 53)
E 30

25 25
20
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g = N.H alil fn O i o i)

Sub questions

Question Number : 46 Question Id : 6326864416 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)

i ol g (10 b )



The average temperature in that week is (in degrees)

‘.F # . +
_Q;ULw(ﬁbfﬂ ubfbﬂbﬁ;%ug

1

(1) 32:

(2) 32

» 3

(3) 31=

(4) 31>
Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 47 Question Id : 6326864417 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

(b) Data Analysis (Marks : 10}

a0 50l e (10 =)



The number of days in that week in which the temperature is

nearer to the average temperature of the week is

_a:‘_.%}iﬁ,fkd'i:-‘“fdjﬁdzuaﬂﬁ' r‘i..'u'::-af-gf

fx 1
@1 7%
(3) 3
(4) 4

Options :

1. %1

2.¥2

3.% 3

4. % 4

Question Number : 48 Question Id : 6326864418 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)

raix ol e (10 sl )



On which day the temperature was maximum and by how much more

than the average temperature of the week (in degrees)?

_L,‘ﬁ’u'l:}d'ruf_Lﬁ'» e Bl ﬁf}}’fﬁ}k;;—ﬁ)&j;ﬁ;{j)i;

. 3 3 .
(1) Wednesday, 8- 8=~
3 3 ;
(2) Tuesday, 3; , 3; JRe
4 .
(3) Thursday, 3 = , 3= &l jeea
) 4 4 .
(4) Wednesday, 8- ; 8- ANTRGIITS
Options :
1. %]
2. %2
3.%3
4.v 4
Sub-Section Number : 6
Sub-Section Id : 632686489
Question Shuffling Allowed : Yes

Question Id : 6326864419 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Question Numbers : (49 to 51)

(b) Data Analysis (Marks : 10)

32 5l (L0 i)



The expenditure incurred by a company under seven major heads
AB,C,D,E,Fand G in an year is depicted as percentages and
shown inthe following Pie chart. Based on the data answer

the questions 49 to 51.

WSS SS42/G 19AB,C.D,E Fatic T et N L e o5 i

_J;::I,lﬁf. 49to Sl e Ulrers JJ!r‘_..L“lf”UIﬁwgﬂ:ungfJU:f

Sub questions

Question Number : 49 Question Id : 6326864420 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)

3o 53l s (10 =)



If the total expenditure in the year is Rs.600 crores, then
the amount spent under the heads C, F and G put together (in

crores of rupees) is

_JﬁgﬁxgﬁJ@j .Jv".'.(_,:.«!.:. Gl C, FJ.ﬁ%}JJJIﬁUO&ly’jTﬂLJLf_g

(1) 470
(2) 360
(3) 282
(4) 180

Options :

1. %1

2. %2

3.43

4. % 4

Question Number : 50 Question Id : 6326864421 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)

325 sl (10 st )



The ratio of the expenditures spent under the heads A and G

together to that is spent under the rest of the heads together

1s
_;f‘_Jﬁr‘JJ‘ﬁ&].{,.&u:‘ﬁ' c.:.-;vjl_,( Jjﬁd/&],_{mu Gl A
(1] 1T 9
AT -
X o b
(4) 34 : 19
Options :
1. %1
2.2
3.% 3
4. % 4

Question Number : 51 Question Id : 6326864422 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)

=i salea (10 =)



The sum of angles (in degrees) of the sectors which show the

expenditure towards heads Fand A is

¥ )

o 1 - - ),/ s
Sl 3L I Al Fetuzdd §uti§ ALy 5

(L)} 150
(2) 180
(3) 152
(4) 162
Options :
1. %1
2. %2
3.% 3
4.9 4
Sub-Section Number : 7
Sub-Section Id : 632686490
Question Shuffling Allowed : Yes

Question Id : 6326864423 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Question Numbers : (52 to 55)

(b) Data Analysis (Marks : 10)

r2ie 5ol g (10 o)



170 children went to an amusement park where they could take
three different rides A, B and C. It was known that 40 of
them took all the three rides and 110 of them took at least
two of the three rides. Each ride costs ten rupees and the
total receipts of the amusement park were Rs.2900 through
these children. Based on this information, answer the

questions from b2 to 5b

-t b Cut A, B Uty f gt b/ Sy E P L€ 170
Susire et 110 ;.ui’gr_ug.i'_.)U"’ip:xﬁJug,ryruﬂﬂ e S Lt
H“ A S o e$ufonScametnie 310 §r 65 st/ S oerss
322900

Sl 1255052 = s ;.,u.d/ﬁlr‘u'f

Sub questions

Question Number : 52 Question Id : 6326864424 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)

g e (10 s )



How many children took exactly two rides each?

_éfi'.;—\_g/:&l.ﬁ JU{JF!’JJ::J&GL?&.{

(1) 80
(2) 75
(3) 70
(4) 68

Options :

1. %1

2. %2

3.¥3

4, % 4

Question Number : 53 Question Id : 6326864425 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)

a3 ol g (10 b )



How many children took only one ride each?

LLoerslbir L e

(1) 70
(2) 65
(3) 60
(4) 50

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 54 Question Id : 6326864426 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

(b) Data Analysis (Marks : 10)

iz 500 aa (10 =)



What is the number of children who took atmost two rides among

the three rides?

d . . ol ‘Hfi
_LJJ LG’G’:L.H;L,{LJ{FJFJJMEJLE}EJLu’: u__!f.ﬂf'uf ﬁé.d.

(1) 130
(2) 125

(3) 140
(4) 135
Options :
1.v 1
2. %)
3.%3
4. % 4

Question Number : 55 Question Id : 6326864427 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(b) Data Analysis (Marks : 10)

JEERE SRR A (10 o)



The receipts of the amusement park through the children who

took exactly one ride among the three rides is (in rupees)

p,’}iuwbdﬂrugc.bﬁugglfufﬁ ‘F;n}fb;.yi_ﬁg&.ﬁ;._ébjuﬁ

L-r’( (J J)
(1) 620
(2) 680
(3) 650
(4) 600
Options :
1. %1
2. %2
3.% 3
4.4 4
Sub-Section Number : 8
Sub-Section Id : 632686491
Question Shuffling Allowed : Yes

Question Id : 6326864428 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Question Numbers : (56 to 60)

Coding and Decodmg Problems (Marks: 10)

SN g 5_1Jn_ 53 PR R u_njn_- (J_ULL&L"LJ_I}



In a certain code, n'® letter in the English alphabet is coded
as

(n+4) (mod 26)"™ letter if n is even and (n—4) (mod 26)"
letter if n is odd. The inverse process is used for decoding.

Using this information answer the questions from 56 to 60.

(n—4) sen _.iffr-g;fy’}f (n + 4) (mod 26)" )/Lﬁj.{/?l_‘/"ufﬂ/:rfh
e 13 AL L L3 enS 152 < (mod 26)"
_ch.i:lfiﬂﬂt’Sﬁ:.«Ulfa.;JJslr’Jf

Sub questions

Question Number : 56 Question Id : 6326864429 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)

¥ g Ea5e€ s ygd E534% (10 ruLzs)



Code for SEVEN is

—c b3/ 2 ZSEVEN

(1) OBZBR
(2) OASAR
(3) OAYAR

(4) OAZAR

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 57 Question Id : 6326864430 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Coding and Decoding Problems (Marks: 10)

S Lpw X558 3 gl £335% (10 sesbns)

e -



ICET is coded as

— 3 YICET

(1) EXAY
(2) EYIX
(3) EYAX
(4) EYAP

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 58 Question Id : 6326864431 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)

Yl gm £554€ 53 jgl £535% (10 sesbns)



Which word is coded as GOVERN?

—c 3 GOVERNL#S sl S

(1) KSRINK
(2) KSRIN]
(3) KSRIM]J
(4) KSRJNI

Options :
1. %1
2.9
3.%3
4. % 4

Question Number : 59 Question Id : 6326864432 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)

SN g 259 C 3 yed £33 5% (10 resbnis)



PAGES 1s coded as

-« B YPAGES

(1) TWCAO
(2) TWKAO
(3) TWCAP
(4) TWCBO

Options :

1.9 1

2. % 2

3.% 3

4. % 4

Question Number : 60 Question Id : 6326864433 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)

Ol g £3559 53 gl £53,4 (10 sebilzs)



Which word is coded as MANGO?

_e W S S EMANGO

(1) QEJOS
(2) QEJKT
(3) QEIKS
(4) QEJKS

Options :

1. %1

2. %2

3.%3

4.v 4

Sub-Section Number : 9
Sub-Section Id : 632686492
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 6326864434 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)

O g K33 g S

53 ygd £335% (10 i)

= J



If LETTER is coded as MAVVAS, then QUESTION is coded as

- t6l/3Y QUESTIONIZ b3 MAVVAS.# LETTER /|

(1) ROATUEIP
(2) ROATUEJP
(3) ROATVEIP
(4) ROATVOIP

Options :

1. % 1

2. % 2

3.3

4. % 4

Question Number : 62 Question Id : 6326864435 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)

¥ g 2548 s ygd E534% (10 rebinzs)

If CODING is coded as GSHMRK then the code for EXAMIN is

_Eu32 L EXAMINCS 2 b3 GSHMRKY CODING.

) IBEQVR
) TAEQMR
(3) IBERMR
) IBEPMR

Options :



1.¥ 1
2.%2
3.%3
4, % 4

Question Number : 63 Question Id : 6326864436 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)

S lpa EA5eC ea yd 3058 (10 sLm)

-

In a certain code FAMOUS 1s coded as PERSON and PERVIN 1is
coded as CLIMAT. Then the code for SAFFRON is

72y CLIMAT ¥ PERVIN /b3 PERSON ¥ FAMOUS 43/

£ul3/2 L SAFFRON
(1) NERRIST
(2) OIUUSTN
(3) OISSUIN
(4) NEPPIST
Options :
1. %1
2. % )
3.% 3
4.4 4

Question Number : 64 Question Id : 6326864437 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)

OV gw 83355 3 gl &35S (10 siinss)



If 15789 1is coded as XTZAL and 2346 is coded as NPSU, then
8156894 is coded as

3K 81568942 b3 NPSUY 234652 b3 XTZALY 15789,

(1) ACTUALS

)
(2) EXTRACT
(3) ACTUARY
(4) AXTUALS

Options :
1. # 1
2. %2
3.%3
4.9 4

Question Number : 65 Question Id : 6326864438 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coding and Decoding Problems (Marks: 10)
OY g 3545 3 gl &534% (10 L)

If TSICET 1s coded as STCITE, then EXERCISE is coded as

€2 L3/ EXERCISE=2_ b3 STCITEY TSICET./

—
[ —

XERE JCES
XEREICSE

—_
2

XERECIES

—
£-2
R

o
N

XEREICES

Options :



1. #® 1

2. %2

3.%3

4.9 4

Sub-Section Number : 10
Sub-Section Id : 632686493
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 6326864439 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Date, Time & Arrangement Problems (Marks : 10)

i . B P - I You Gy ‘é___'-_z L5 Y alga (J_U,;ﬂ_fL.:;)

If today is Sunday, what day was it 260 days ago?

Ko s 2609 AL

(1) Sunday sl
(2) Saturday T
(3) Friday PEPEN
(4) Thursday Gl yran
Options :
1% |
2.92
3% 3
4.% 4

Question Number : 67 Question Id : 6326864440 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Date, Time & Arrangement Problems (Marks : 10)

Sl gw cieayd Yaey Yaaglds Y oalga (J_Uq;l]_ILL:_I)



The smaller angle between the hours hand and minutes hand when

the time is 3:48 pm is (in degrees)

_(ufﬁjij_ﬁ; 3:48 pm=ds Sz LalillsF e s minutes hand.sf hours hand

(1) 114
2 174
(3) 186
(4) 116

Options :

1. % 1

2.9 )

3.% 3

4. % 4

Question Number : 68 Question Id : 6326864441 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Date, Time & Arrangement Problems (Marks : 10)

S gw oieays Yady *iagls Yool ga {lg:;;,l_',u_',}



The time between 5 pm and 6 pm on a day at which the two hands

of the clock will be at an angle of ‘5‘7%Ci for the first time.

“UnZ A g,;f'{-',;,:ﬂ}g? %ﬂ ﬁ.f}:iﬁj;f_‘a ‘i p'?})ﬁrl.i;ﬁjﬂf_.s ,_-,uL,rr

6 : .
(1) 5 hours 9— min. e 99— g-:;_
11 11 ?
(2) 5:35 5:35
A i - b o® i by {
(3) 5 hours 4711 min. L 47 — < Gk
(4) 5:45 2:4b

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 69 Question Id : 6326864442 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Date, Time & Arrangement Problems (Marks : 10)

Sl gw oieays Yasy *aagls Yoalga {l[}:;;,l_',L.:-_a}



Define the Blood relationships in a family as follows.

(i) A+ B = A is brother of B.
(ii) A — B = A is mother of B.
(iii) A x B = A is sister of B.

What is the relationship between P and S in P + Q - S 7

ce WU = T35 L ib LIt S5
A+B= A= (usB A (i)
A—B= A uB A (i)

A X B = A_c B A (ii)

=P UL PASHP+Q-S
(1) P is the sister of mother of S.

(2) P is the brother of S.

(3) P is the sister of S
(4) P is the brother of mother of S.

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 70 Question Id : 6326864443 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Date, Time & Arrangement Problems (Marks : 10)

Sl gw ciwayd ‘aay Y‘aoagld Y oolge (10 slilis)



Two busses arrived at a depot at 11 am and 2 pm with delaved
timings of 18 minutes and 38 minutes respectively. What is
the difference in their scheduled times of arrival (in

minutes)?

J}g{;ﬁ"JLATJcJI-ﬂ:é'{ia.a_f{:(‘lﬁ.i.2 Jslg.i_ 1123822418 LL'J'JJ

(fe)-e
(1) 150
(2) 155
(3) 160
(4) 162
Options :
1. %1
2. %2
3.¢3
4. % 4

Question Number : 71 Question Id : 6326864444 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Date, Time & Arrangement Problems (Marks : 10)

Sl gw cieayd Yaey Yaaglds Y oalga {1[]:\-;11_',1_.:-_'1}



There are 3 doctors having clinics in the same building.
Doctor A is available between 11 AM and 3 PM on Monday,
Thursday, Friday and Sunday. Doctor B is available on
Tuesday, Thursday and Sunday between 10AM and 2 PM while
Doctor C is available on Monday, Wednesday and Thursday
between 9 AM and 12 Noon and on Friday, Saturday and Sunday
between 2 PM and 4 PM. On which day at which time all the 3
doctors are available?

L T EN S AT /70 5 A i s S Fe B FieE S f s
A C P S aee Gt E 2 T £10 Simat 27 B B Fliee bk
J:lu;d.-)/_f_t‘y_l.ﬁ«’r’iﬁé.4 SeEE 2 AT 81 2z c;&':’;;f:r;ﬁué.lz Jslgég)/.:fif":

Ut EEE P il S

(1) Sunday 2PM to 4PM
(L AL L 249

(2) Thursday 11 AM to 12 Noon
Ao 1208 11 A

(3) Tuesday 10 AM to 12 Noon
i A0 2104

(4) No day
u.?}cjjéjr

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 72 Question Id : 6326864445 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :



Date, Time & Arrangement Problems (Marks : 10)

O gw oieays Yoy ‘Ao ls Yool ga {lg:,-;,l_',L.:-_a}

Six friends A, B, C; D, E and F are sitting in a row on a
bench. C is left most and E is right most. If A is between
D and F and B is between F and E. Who is sitting immediate

right to A?

-D‘F- ASl. e Batio St CoutZ™ 2 LI Fust A, B, C, D, E =06

_giwu}(h—"h?uf})u;}ﬂlri A Fonglr sl Esl FBalgynd

(1) F
(2 D
(3) B
(4) E

Options :

1.¥1

2. %2

3.% 3

4. % 4

Question Number : 73 Question Id : 6326864446 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Date, Time & Arrangement Problems (Marks : 10)

S gw oieays Yasy *iaglds Yoalga {1(};;;11.1.:-.'1}



For positive integers m,n define m@Pn=2m —nandm=*n =
m + 3n
then (2@ 3)*(46p5) =

—«m*n=m+3n » mmn define m@Pn=2m—n i.f.u'ﬂ«l:.-ﬁ
-2®3)=x(4D>5) =
(1) 12
(2) 9
8k 1
(4) 10
Options :
1. % 1
2. %2
3.%3
4.9 4

Question Number : 74 Question Id : 6326864447 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Date, Time & Arrangement Problems (Marks : 10)

A [ 1

Sl pw B ay S Yol ‘g ls 2l 5a (10 :oliis)



If x*y=x+y+xy and p¢q = —,

then (5¢3)* (14412) =

X*y=x+y+xy.n qungfr

(5¢3) * (14¢12) =

(1) 17
(2 52
(3) 72
(4) 69

Options :

1. # 1

2. %2

3.%3

4.9 4

Question Number : 75 Question Id : 6326864448 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Date, Time & Arrangement Problems (Marks : 10)

Al [ ] 1

Sl pw B ayy Yody Yaogls 3l g (10 ;liiis)



If a®b=(a+b—1)2—1,then 1®2)QRBR3) =

1R2DQBR3)=—a®b=(a+b—1)2-1.]1

(1) 675
(2) 625

(4) 525

Options :

1.% 1

2. %2

3.% 3

4, % 4

Mathematical Ability

Section Id : 63268665
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 75

Enable Mark as Answered Mark for Review and Clear Response Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 632686494
Question Shuffling Allowed : Yes

Question Number : 76 Question Id : 6326864449 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



i) Arithmetical Ability (Marks :35)

Sl o lus (35:uLs)
a—b b—e c—a 1+ 1+ 1+
L& = y Q= y, = , then —2 . =
atb b4c cta 1p 1—q 1—
3 a—b e g = c—a
: atb '’ d bic ' c+a
1+p 1+g 1+r .
. . _—
1=p “Y=g 1l =
(1 1
(2) 2
(3) 3
(4) 4
Options :
1.v 1
2. %2
3.%3
4. % 4

Question Number : 77 Question Id : 6326864450 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

i) Arithmetical Ability (Marks :35)
Oudo o ol (35:‘513!'-*35)



(y 2
5
(2) =
7
(3) g
@ I

Options :
1. %1
2.9
3.%3
4, % 4

Question Number : 78 Question Id : 6326864451 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks :35)
Oudo o ol (35:*LUL:5)

p:q=2:3;q:r=4:5 r:s=37 =p:iqiris =

(1) 24 :45 : 36 ¢ 105
(2) 24 : 36 : 45 : 105
(3) 24 :'38 : 45 : 90

(1) 24 ::36 ; 54 ; 106

Options :
1. %1
2.¥2
3.%3
4. % 4



Question Number : 79 Question Id : 6326864452 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks :35)
Codols o lus (35:*313!'-*35)

Rs. 14700 is divided among P,Q, and R such that P got half as
much as Q and Q got half as much as R. Then the amount P got (in

rupees) 1is

ZUSSREETIQAIF QP 152 SV USSR APQ, S Usss 147007

_jL (Utu-ffﬁJ}FJL?r;r’}#—L?i{

(1) 2100
(2) 2800
(3) 3500
(4) 4200

Options :

1.¥ 1

2. % )

3.% 3

4. % 4

Question Number : 80 Question Id : 6326864453 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks :35)
Oudols o lus (352*31-'1!'-:'-'*)



V1741242 =

(1) 1443
(2) 1++2
(3) 2++2
(4) 2++3

Options :

1. % 1

2.% )

3.% 3

4. % 4

Question Number : 81 Question Id : 6326864454 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks :35)
Codols o lus (35:ulis)



(1) 5++6
(2) 12
(3) 10
(1) 5-+6
Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 82 Question Id : 6326864455 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks :35)
Oudo o ol (351Ul



If 2% divides 7680, then the largest value of a is

e drSacs A Utuss 7680529

(1) 11
(23 1D
(3) 8
(4) 9

Options :

1. %1

2. %2

3.%3

4.9 4

Question Number : 83 Question Id : 6326864456 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks :35)
Codols o lus (352*313!'-*35)

The remainder obtained when 4'""’ is divided by 7 is

-Jﬁ_.?ﬁ_g:y’r‘::”¢.TI4]"‘“’I.,4;.~EJJgu}-J’EF

(1) 4
(2) 2
(3) 1
4 0

Options :



1.v 1
2. %2
3.%3
4, % 4

Question Number : 84 Question Id : 6326864457 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

i) Arithmetical Ability (Marks :35)
Codols o lus (3EiChUL10

The GCD of two numbers is 23 and their sum is 184. The numbers

dare
-ufy,ur/:)nsh'.-:r;;.184?;J@";Jlr:‘_.23 ,;35 KJIJ!JJLGCD

(1) 92 ,92
(2) 63, 121
(3) 69, 115
(4) 64, 120

Options :

1. %1

2. % 2

3.3

4. % 4

Question Number : 85 Question Id : 6326864458 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks :35)
Codols o lus (SEtChULiﬂ



What is the greatest possible length of a scale (in cm) that can

be used to measure exactly three cloths of lengths 3m, 5.1m and

12.9m?
_é./;ff,gf] 2.9mus5.1m 3m, Ju:{f.[’:’dfﬁf_jg-rui:cfdb&lﬂuya.ug_}

(1) 60
(2) 30
(3) 90
(4) 15

Options :

1. %1

2.2

3% 3

4. % 4

Question Number : 86 Question Id : 6326864459 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks :35)
Oudo o o lus (35Z‘LULE)



The average of 5 consecutive even integers is 38. What is the

product of first and the fifth numbers?

Yy N 1 4 ,L.;;:I#_;,}'..:;SSLHA!KJ/.@J:J?- ELd

(1) 1248
(2) 1284
(3) 1482
(4) 1428

Options :

1. % 1

2. % 2

3.% 3

4. ¥ 4

Question Number : 87 Question Id : 6326864460 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

i) Arithmetical Ability (Marks :35)
Sodols o lus (35:ulis)

i

(1)
(2)
(3)
(4)

o jun e ]lw wlou

Options :



1. %1
2.%2
3.% 3
4. % 4

Question Number : 88 Question Id : 6326864461 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

i) Arithmetical Ability (Marks :35)
Codols o lus (35:ulis)
The greatest among —,=,2,2 i
. - BRONE Jr3vgre
: i 33 3
_:__,L_.-'jﬁ}jlj:;__,y’u!:—,—,—,_
7 : 2°3°5%4

1
o =
2
) -
(2 2
; 3
@ <
3
(0 2
Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 89 Question Id : 6326864462 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks :35)
Oudols o lus (35:&iLi)



: 75 3 :
The descending order of the numbers E,E,zand; is

T 5 3 8
_.—:..L-' L)L?JU"D“J/ -.}Uﬂfr'_/.— A _J.!!E

-
-
-

-
-
-

-
-
-

(4)

-

e ] O e o~ oo~

@~ ol v ] w

Ol |~ wlm oo
ol b lw w|w o

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 90 Question Id : 6326864463 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks :35)
Sudo s o lus (SBZQULB)



The gross income of a person is Rs. 22 lakhs. A part of the
income is exempted from the tax. The rest of the income is taxed
at 30%  If his income after deduction of tax is 19 lakhs, what

is the income (in lakhs) exempted from tax?

mf’k"/;bu'{’r;.@;@é:; 3{}%F!ﬁzf-'f—'mfugbfuﬂgj;g{d*r‘f-;ﬂzL-’:‘JUE,JJ?VQ

_»:‘_.ﬁﬁ@;.u'g[},f&f_#ﬁafﬂlgu”g’JLgPH(EJJu'lﬁ_f_.

(1) 10
(2) 11
(35 12
(4) 15
Options :
1. %1
2.% 2
3.3
4. % 4
Question Number : 91 Question Id : 6326864464 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i)

Arithmetical Ability (Marks :35)
Codols o lus (35:*313!'-*:5)



Three candidates A, B, C contested an election and got 4450,

12000 and 3550 votes respectively.

total votes polled by B?

What is the percentage of the

B s S P e 35505112000 4450 il S e LIS A, B, C sl

(1)
(2)
(3)
(4)

Options :

1. %1

2. %2

3.%3

4.v 4

38%

_a.y/d..w.! KU s iLii.L".:.-rb\;

Question Number : 92 Question Id : 6326864465 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability
Oudo o o lus

(Marks :35)
(35:uLds)



A man sold an article at a profit of 12% Had he sold it Rs. 180
more, 18% would have been gained. What is the cost price of the

article(in rupees)?

— L*'f_-.é;);.:.f;u%.ulSO uﬁuﬁ-?t'/f&i}/ic.g;ﬂélz% }J/E...gl_}i..{!

2/ 'T—P’:fi*u‘/““f-muf SUI18%

(1) 2800
(2) 3000
(3) 3200
(4) 3600

Options :

1. % 1

2.9 2

3.% 3

4. % 4

Question Number : 93 Question Id : 6326864466 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks :35)
Oudo o ol (35Z*LUL:5)



The cost price of 10 articles is equal to the selling price of

the same 12 articles. What is the outcome of this transaction?

i _3;}'“ Kf_.;r'Ji-f_.{b: i&s}&fg{?rl Z&éa&ﬁkﬂfl 10

(1) 5?0% loss 5?% P
(2) 5?0% profit 5—00;’03?'
(3) 5?0% loss 5?0% ol

(4) 5?0% profit 5?0% o

Options :
1. %1
2. %2
3.¢3
4. % 4

Question Number : 94 Question Id : 6326864467 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

i) Arithmetical Ability (Marks :35)
Codols o lus (35:*LUL*E)



In a business P, Q and R invested Rs. 6000, Rs.8000 and Rs. 12000
respectively. What is the share of Q in the total profit of

Rs. 10400 (in rupees)?

W 2o6QUAE 1040012 6z A L~ 12000518000 ‘6000-R 51 P, QUEA KL

-
(1) 3600
(2) 2400
(3) 1600
(4) 3200
Options :
1. % 1
2. % 2
3.% 3
4. ¥ 4

Question Number : 95 Question Id : 6326864468 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

i) Arithmetical Ability (Marks :35)
Codols o lus (35Z*LUL*B)



A, B and C started a business with investments in the ratio 1:3:5.

After 4 months, B and C withdrew half of their investments.
At the end of the year, if C’ s share of profit is Rs. 6000, then

B’ s share of profit (in Rs.) is

LG EJETC B LA I SEK A SeP 1 305 LA KLICHA, B

oo LEWBT56000.2 U8 ¥ 1P L

Options :
1. %1
2.9
3.%3
4. % 4

Question Number : 96 Question Id : 6326864469 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

i) Arithmetical Ability (Marks :35)
Codols o lus (35:*313!'-*:5)



Two pipes P and Q can separately fill a cistern in 6 hours and 8
hours respectively, while a third pipe R can empty it in 12
hours. If all the three pipes are opened together, then the time

taken to fill the cistern is

LU 12/UR ,.&I/:.:._wavfi./@'ufu}“fg ;;iufpl}jﬁfcisterll.ng 2P s

-fﬁgﬂu&uiii.ﬂfcistem J!__J’_LL?E:JJ‘;L)L—..@/V;:%ui.‘.’"c)f)ﬁl-.:;.t'/dlé

(1) 4 hrs. 36 min. 2236454
(2) 4 hrs. 48 min. 248584
(3) 4 hrs. 12 min. 212284
(4) 4 hrs. 40 min. 240584

Options :
1. %1
2.¥2
3.%3
4, % 4

Question Number : 97 Question Id : 6326864470 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks :35)
Oudols o lus (35:*31—'1!'—:'-'*)



An electric pump can fill a tank in 2 hours. Because of a leak

in the bottom,

it took 3 hours to fill the tank. In how much

time the leak can drain all the water of the full tank?

Lnknd3 Lo APraIMEYtd-at ATSeLItU2 s S

(1)
(2)
(3)
(4)
Options :
1.¥1
2. %2

3. %3
4. % 4

6 hours
5 hours
6 hours

hours

w9

30 mins

J0 mins

P L P ruit i

=5 6
=58 5
Sie 30 58 6
e 30 S 5

Question Number : 98 Question Id : 6326864471 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability
Sodols o lus

(Marks :35)
(35:ulis)



A car covers a certain distance at 80 kmph and returns the same
distance at 60 kmph. What is the average speed for the whole

journey (in kmph)?

_{_JTL_,@IJLJDJJJJL}}’:Mﬁﬂ J‘G&JJJI%&);&L;BJJJJL'}}’:MSO ,L‘lim{f?».g!

(d:ur/b:}..u’ )-»f_-yfiﬁib}ltf/ﬁ”é.;;;

(1) 702
(2) 662
(3) 64>
(4)  68=

Options :
1. %]
2. %)
3.%3
4.9 4

Question Number : 99 Question Id : 6326864472 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks :35)
Codols o lus (35:ulis)



A man walks along the diagonal of a square field at the rate of 8

kmph for 36 minutes. What is area of the square field ( in sq.

kms) ?

IH N 0 36 2 S 2E3 2 K8 A S st LI

-J/(l":l"'
(1) 11.25
(2) 10. 52
(3) 11.52
(4) 12.64
Options :
1. % 1
2. %2
3.9 3
4. % 4

Question Number : 100 Question Id : 6326864473 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks :35)
Oudols o lus (35:uLis)



P can do a piece of work in 24 days, Q in 30 days and R in 60

days. In how many days all the three together can do that work?

UELUHE et S LU 60  Rusl i30S P61Q-ct S Lt ud 24 6 Lip

_L,_'?L/q;; Jrlf‘b/ .'_,ﬂ/ |_,|'
4
(1) Al
2 e
(2) 10—
10
3) 97
8
Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 101 Question Id : 6326864474 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks :35)
Sodols o lus (SBZQULB)



Persons A and B undertook to do a work for Rs.8000. A alone can
do it in 6 days while B alone can do it in 8 days. With the help
of C, if they finished that job in 3 days, then C’ s share in

the remuneration is (in rupees)

LU UIB S o U6 S PEUIFA Lt 103 iU 228000 5 6 LTBs Ao s
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(1) 1000
(2) 1200
(3) 1400
(4) 800

Options :

1.9 1

2. % 2

3.% 3

4. % 4

Question Number : 102 Question Id : 6326864475 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks :35)
Oudo o o lus (35:uLds)



The area of trapezium (in sq. m) whose parallel sides are of
lengths are 40m and 30m and having equal non parallel sides each

of 13 meterslength is

U A3 e 22300 240 JgnSusd S L7 (u A 210 J trapezium ]
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(1) 640
(2) 560
(3) 420
(4) 380

Options :
1. %1
2. %2
3.¢3
4, % 4

Question Number : 103 Question Id : 6326864476 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks :35)
Oudols o lus (35:uLis)



A path of width 3 meters is laid on all borders inside a
rectangular garden, whose length and breadth are 40 meters and 20
meters respectively. The total area of the path, in square

meters, 1S

I 20,40 J2sdUE AN s sl nLiedigSu 23 AGERET
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(1) 284
(2) 248
(3) 324
(4) 264

Options :

1. %1

2. %2

3.¥3

4, % 4

Question Number : 104 Question Id : 6326864477 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks :35)
Oudo o ol (35:uLs)



The volume of a cuboid is 36m®. If its length and breadth are 6m

and 3m respectively, then thetotal surface area of the cuboid is

Kff:.cuhoid — U NS 23 S A6 JIJ?,;:!JLJJJJ!_L 36m’ A Ecuboid L

-__’/’] rF .-:ji'

(1) 68
(2) 76
(3) 64
4) 72

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 105 Question Id : 6326864478 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

i) Arithmetical Ability (Marks :35)
Codols o lus (35:ulds)



The weight of a solid metallic sphere of radius 4 cm is 4 kg.
The weight of a hallow sphere made with the same metal with outer

diameter of 16cm and inner diameter of 12 cm is,

b6 ke = Mo 120 2155 e A/ M A6 01 Mer L 2574
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(1)  20.5

&
=
e

(2) 18.5 kg
(3) 16.5

o
=
g

(4) 156. 5 kg

o

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 106 Question Id : 6326864479 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

i) Arithmetical Ability (Marks :35)
Codols o lus (35:ulis)



The height of a cylindrical pillar is 28 meters and its radius is
3 meters. The cost of painting around the pillar at Rs.8 per sa.

meter (in rupees) is

IS8 S S Bes ML ke g 23 B e 228 8ISk
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(1) 3244
(2) 4224
(3) 4284
(4) 4264

Options :

1. % 1

2.9 )

3.% 3

4. % 4

Question Number : 107 Question Id : 6326864480 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks :35)
Codols o lus (352*313!'-*35)



If the area of an equilateral triangle is 9v3em?, then its

perimeter, 1n centimeters, 1s

Kl J}f{:{perimeterhﬁ_g.gﬁ em? 3 Kzbiequilateral L

(1) 21
(2) 12
(3) 15
(4) 18

Options :

1. %1

2. %2

3.%3

4.9 4

Question Number : 108 Question Id : 6326864481 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

i) Arithmetical Ability (Marks :35)
Codols o lus (35:*313!'-*35)



If the diagonals of a rhombus are 20 cm and 15 cm, then its area,

in sq. cm, 1S

Bl U E 3K g 21500 220008 L ok

(1) 220
(2) 150
(3) 180
(4) 210

Options :
1. %1
2.9
3.% 3
4. % 4

Question Number : 109 Question Id : 6326864482 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks :35)
Codols o lus (35:*313!'-*35)



492022 opds in the digit
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(1) 7
(2) 3
3 9
(4) 1

Options :

1. %1

2. %2

3.%3

4,4 4

Question Number : 110 Question Id : 6326864483 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i) Arithmetical Ability (Marks :35)
Sodols o lus (SBZQUL:'—‘*)



If 13x = 10 (mod 28), thenx =

x =—~13x = 10 (mod 28).”"

(1) 10
(2) 13
(3) 18
(4) 28
Options :
1. #* 1
2. %2
3.3
4. % 4
Sub-Section Number : 2
Sub-Section Id : 632686495
Question Shuffling Allowed : Yes

Question Number : 111 Question Id : 6326864484 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability (Marks :30)
Gadols Syluals Hol |l (30:cliLis)



If A=1{1,2,3,456,7,8}, then the number of subsets of A

containing 5, 6 and 7 1is

S 925,6,7 subset-A A = {1,2,3,4,5,6,7,8), /1

(1) 128
(2) 16
(3) 64
(4) 32

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 112 Question Id : 6326864485 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability (Marks :30)
Qudo s uSJ_kLHI_?- EE L YT (30:*111—'1"-&)



For three sets A, B and C, if n(4) = 20,n(B — A) = 16 and
”(C =4 UB)) = 24, then n(AUBUC) =

(n(A) denotes the number of elements in A)

n(A) = 20,n(B — A) = 16 JICsA, Berys
n(C—(AUB)) =24
JAYBYE) =3

_(9rf'}wfﬂVLs;LnguCA ‘n(4))

(1) 56
(2) 64
(3) 60
(4) 48

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 113 Question Id : 6326864486 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability (Marks :30)
Qudo s uSJ_JLHI_?- BY L ST T (302*111—'1"-3'—‘)



a+b=5=a’+b3+15ab =

(1) 625
(2) 125
(3) 150
(4) 225

Options :
1. %1
2.2
3.%3
4. % 4

Question Number : 114 Question Id : 6326864487 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability (Marks :30)
ol W I JJ_}LHL?- Jel 1yl (BOZ*LULS'—")



If ax+ b is added to the polynomial 4x* 4+ 2x3 —2x2+x—1,

then it is divisible by x? 4+ 2x — 3. The value of 2a+b =

4x44—2x3——2x24—x——1[uﬂynunﬂm;hx—kb/1
cebns S x® + 2x — 3.

= -
_d,-f:.?“'k-rJZtl + b=

(1) 57
(2) 52
(3) 67
(4) 62

Options :

1.¥1

2. %2

3.%3

4. % 4

Question Number : 115 Question Id : 6326864488 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability (Marks :30)
Gt s iS__}_th_‘l*_ﬂL’A- Fal )opase 1) (30:*51—'1"-3'—‘)



If x34+10x2+ax+b is exactly divisible by x+1 as well as
¢ s I
then (a,b) =

mfg((a, b) —‘,}’_LL_?EJ;;‘Z} ex—1sx+1 ;.L_)’dﬂ’f:'/xa +10x2 + ax + bf!

1) {110}
oy (—d—10)
3) (1,10)

(
(
(
(4) (—1,10)

Options :
1. %]
2.¥2
3.%3
4. % 4

Question Number : 116 Question Id : 6326864489 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability (Marks :30)
Cudols dﬁ_Hl_q- 3al) )opiecd) (30:*31-.1"-3—")



The remainders when the polynomial f(x) is divided by (x —2) and
(x —3) are 6 and 4 respectively. Then the remainder of f(x) when
divided by

(x2—5x+6) is

= A4 816 .,F?_igy/r‘:y = (x — 3)4/(x — 2) fpolynomial f(x) .'/_.a:srem::iindersgy

Enl(x% = 5x + 6) W6F () -t Zn Sl

(1) —2x+10
(2) 2x+10
(3) =2x+F5H
(4) 2x+5

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 117 Question Id : 6326864490 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability (Marks :30)
Gt s d_}j_‘!_al_:- Fal )opase 1) (3[}:&1.‘11_3_})



The sum of a two digit number and the number obtained by revising
the order of its digits is 121 and the digits differ by 3. Then

the number is

Mh‘.}'_af_li'ﬂ?) O 6121 :lﬁlLlJLﬁfhi.ﬂl./‘?;fg}ﬂf.bﬁﬂﬁfggjdé-ﬁ:

_f;LUZJ
(1) 64
(2) 46
(3) 174
(4) 72
Options :
1. %]
2. %2
3.3
4. % 4

Question Number : 118 Question Id : 6326864491 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Algebraic and Geometrical Ability (Marks :30)
Cudols :Sjj_Hl_e- Hal) )opiecd) (30:*31-.1"-3-")



R | (P [
x+y

x+y

(1)
(2)
(3)
(4)

Options :
1. %1
2. %2
3.¥3
4. % 4

4
x—y

=9, then (x,y) =

x—y

_:)T':l’”:wgt_}’(x,y)= __}'iﬁ— P =gy =t — 0]

x+y  x—y xty  x—y
(1.2)

| —1;—2)

(2,1)

{—2,—1)

Question Number : 119 Question Id : 6326864492 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability (Marks :30)
Sudols Syaols ygl 1yl (30:liLis)

J(x2 —2x —15)(x2 — 5x — 24)(x2 — 13x + 40) =

Options :
1. %1

(44 Ajx— S50+ H)
(x— 3}{x —5)(x—8)
(x5 A —5j{x—8)
(x +3)(x +5)(x — 8)



2. %)
3.¢3
4. % 4

Question Number : 120 Question Id : 6326864493 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Algebraic and Geometrical Ability
Sl ls Syaels gl

(Marks :30)

| e (30:liLiy)

The interior angles of a regular polygon are in Arithmetic
Progression. The smallest angle of the polygon is 120° and the
difference of consecutive angles is 5°. Then the number of sides

of the polygon is

_,u_;',-J:,ULus"dgi,,f.a_--i.;{_uguﬂ’mgressi(m L&L?_Q,:gljdujréplfg};mﬁ'l,_{i

Options :
1. %1
2. %2
3.%3
4.9 4

(1)
(2)
(3)
(4)

o oo w0 o

or

or

or

or

14
12

16

et 1SS UI LY i 55 LUy m120

(L

(L

(L

14

12

15

16

Question Number : 121 Question Id : 6326864494 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Algebraic and Geometrical Ability (Marks :30)
Qudo s dJiHI_? EY L YT (30:*111—'1"-35)
If the fifth term of a Geometric Progression is 7, then the

product of its first 9 terms

# -~ o b : "
_gﬁgijJﬁ,,ﬁJ‘uLm,;’_;&Lwd}; _{gﬁﬁfsé(ﬁeomemc@/ﬂ

(1) 7
(2) 7
(3) 7%
(4) 7

Options :
1. %1
2.9
3.%3
4. % 4

Question Number : 122 Question Id : 6326864495 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability (Marks :30)
udols tSJiHI_:- Fal Fopaee 1y (BDZQULS'—")

Cot (8 — 1170°) =

(1) tan®
(2) —tan@
(3) cot#

(4) —cot®



Options :
1. % 1
2.% 2
3.% 3
4, % 4

Question Number : 123 Question Id : 6326864496 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability (Marks :30)
Sudols Syl ygl 1yl (30:liLi)

If 0<6 < 270° and sec@® + tan@ = %, thensin®@ =

secH + tant =% »H 0<O < 27(]";!

P 2 ; :
-3/ (9 s JSln 0 =

11
n =
2 =
12
(3) Z
(‘1} =
Options :
1. %1
2. %2
3.9 3
4. % 4

Question Number : 124 Question Id : 6326864497 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability (Marks :30)
Gudols Syluals Hol |l (30:-cliLis)



1 V3

sin 10° cos 107

(1) 1
(2) 2
(3) 3
(4) 4
Options :
1. %1
2. %2
3.%3
4.4 4

Question Number : 125 Question Id : 6326864498 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability (Marks :30)
Sl sl 8 Syt eale 39l 1opusell (30:liLi)

cos(x —y) = 3cos(x +y) = cotx.coty =

(1) 2
(2) V2
(3} 3
4) 1

Options :

1.¥1

2. %)

3.%3

4. % 4

Question Number : 126 Question Id : 6326864499 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability (Marks :30)
udola dJiHI_:g- Fal )opaee 1 (302*51-'1"-35)

If the angle of elevation of the top of a tower of height 100m

; ; ; 4 :
from a point to its foot is tan_l(g), then the distance from the

point to its foot, in meters, 1is

Kjglbgc.iﬁ;u"i._}'_:;-tan_l (E) . Jﬁ&iéu‘ru“ﬁuﬁ ‘JEJI:JIJLJE";'J;}U_«Q

5
Kol i 2 et
(1) 140
(2) 126
(3) 120
(4) 130
Options :
1. % 1
2.9
3.%3
4. % 4

Question Number : 127 Question Id : 6326864500 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability (Marks :30)
Qudo s dJiHI_? BY L ST T (302*111—'1"-35)



In the given figure A ABC, if «£BEC = 90°, «£EBD=40° and £DAC = 30°,

then x +y =

£DAC = 30%s1 ZBEC = 90°, ZEBD=40°/ It s et L 2leZ_s_s

Xk Y et

(1) HW
(2 120°
(3) 13b°
(4) 140°

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 128 Question Id : 6326864501 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability (Marks :30)
Qudo s SJ_JLHI_? 39l |yt (302*31-'1"-3'—‘)



In the given triangle, if AD is the bisector of #BAC, then AC=

AC=2" _x bisector ¥AD.sIZBACS I Flse &

(1) 3.5
(2) 4.5
(3) 5

(4) 5.5

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 129 Question Id : 6326864502 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability (Marks :30)
Sudols Syl ygl 1yl (30:liLi)



What is the area, in sq. units, of the parallelogram formed by
4x—Ty—13=0, 8x—y—39=0,4%c—7y+39 = 0and
8x—y+13 =07

4x — 7y — 13 =0, 8x — y — 39 = 0, 2 A parallelogram (|

S LS Y I U FEBx — y + 13 = Osdx — Ty +39 =0

(1) 52
(2) 48
(3) 46
(4) b8

Options :

1.v1

2. %2

3.%3

4, % 4

Question Number : 130 Question Id : 6326864503 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Algebraic and Geometrical Ability (Marks :30)
o W I tSJ_kLHI_:- Jel 1yl (30:*111—'1"-3'—‘)



The Y-intercept made by the line parallel to 2x —5y =5 passing

through the point (5, 4) is

-bﬁ.r:g.;i,;f;.bl}';(i 4~ 2x — by = 5.q;ﬁ@-@k";.ﬁﬂffyy‘..“flﬁ."]’-intercept)ﬁ

(1) 1
(2) 2
3 3
(4) -2

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 131 Question Id : 6326864504 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability (Marks :30)
Gudols Syvaols ygl 1yl (30:liLi)



The area of the circle whose circumference is equal to perimeter

of a square whose area is given by 121 sq.cm. (in sq.cm.) is

WA G IEN21 JHS Gl LU P a L LIS 3K 15

(LU A28 A5
(1) 154
(2) 148
(3) 169
(4) 189

Options :
1.v 1
2. %2
3.%3
4. % 4

Question Number : 132 Question Id : 6326864505 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability (Marks :30)
Cudols :Sjj_Hl_e- Hal) )opiecd) (30:*31-'1"-3-")



The number of common tangents that can be drawn to two circles

touching externally is

- - £
_‘a,d/tuuch:fu'(,:_,,e#duﬂ_;.uﬁl.?' i3 u’fu;ﬁw;’.’;!ﬂL,(tangentslf‘b...g

(1) 1
2) 2
3 3
4) 4

Options :
1. %1
2. %2
3.¥3
4, % 4

Question Number : 133 Question Id : 6326864506 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability (Marks :30)
Sudols Syl Hgl 1yl (30:2liLi)



The area of the triangle formed by the points (3, 2), (3, -6) and

(in sq. units)
S (D etno e VUG 2 LS, 20013, 2), 3, -6)2 F ek L]

(1) 5
(2)
(3)
(4)

-]

o OO

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 134 Question Id : 6326864507 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Algebraic and Geometrical Ability (Marks :30)
Godols Sylals ygl |l (30:liLi)



If G%) is the centroid of a triangle for which (3,6) and (5, - 2)

are two vertices, then the third vertex is

_Ef.rr‘l;-',\n:1“tex!/f_}'u§\=‘e11icesu(S._ -2);3!(3.6)£.J?u3cemmid£.&.ﬁ_{fe,%)fl

(1) (3, -2)
(2) =3; -2
(3) Cd 9
(4) (3 2)

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 135 Question Id : 6326864508 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability (Marks :30)
Sudols Syaols ygl 1yl (30:liLis)

The equation of the straight line passing through (3, 4) and

having slope of 4 is

_f:_.J.»fslnpe,;fh:!g_Ju}fa.(i 4}£¢I_sbur[‘fy§.€!

(1) 4x +y =18
(2) x+4y=0
(3) 4x—y—8=0

(4) x—4y =0



Options :
1. %1
2. %2
3.¥3
4, % 4

Question Number : 136 Question Id : 6326864509 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability (Marks :30)
Cadols Syluals Hel |l (30:ciLis)

Equation of the straight line passing through (0, 0) and (3, 2)

3T e 3,20, D22t S £ 15

(1) 2x+3y=0
(2) 3x-+25=10
(3) 3x —2y =0
(4) 2x—3y=0

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 137 Question Id : 6326864510 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability (Marks :30)
Sadols Sylals Hol |l (30:cliLis)



If the lines 5x—2ky+7 =0 and 2kx —5y+3 =0 are parallel,
then the equation of the line passing through (0, 0) and having

the slope k, k>0 is

0,0 zetl- Lur® 8 12kx — 5y + 3 = 0.35x — 2ky + 7 = 0 =l

~ drk, k>0ss U‘u/’a.

(1) 2x-5y=0
(2}  Sp—2y=10
(3) 6x—5y=0
(4) 3x+2y=0

Options :
1. %1
2.9
3.%3
4. % 4

Question Number : 138 Question Id : 6326864511 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Algebraic and Geometrical Ability (Marks :30)
Gt s tSJ_kLHI_:- Aal Fopise 1y (BDZ‘LULS'—‘)



The equation of the straight line whose slope is 3 and cuts an

intercept of 5 units on the Y-axis is

-493/63'4&55 “ Y-axisssle 3 s;]ﬂpefu’*}kiﬁ:,bu/ﬁ

(1} F=58%%3
(2) Sy=x+3
(B} ¥=3%+5
(4) 3y=x+5

Options :
1. # 1
2. %2
3.¥3
4. % 4

Question Number : 139 Question Id : 6326864512 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability (Marks :30)
Sudald SHials Hgl 1l (30:2liLi)

The distance between (1, 2) and the mid point of the line segment

joining (2, 3) and (3, 4) is , in units

e $ G, D2, 3k F Y1001, 2)

(2)
(3)

(4)

2 Bl Sl e

3
2



Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 140 Question Id : 6326864513 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability (Marks :30)
Cadols Syluals Hel |l (30:ciLis)

If the line f—k%zz 1 passes through the points (2, -3) and (4, - 5)

then (a, b) =

(a.b) —__,;'.»;;,tu:f = (4, -5)12, -3 ),:% +§ =1 L

(1) (1, 1)
(2) (1,.1)
(3) i A
(4) (-1, 14
Options :
1. %1
2. % 2
3.% 3
4. % 4
Sub-Section Number : 3
Sub-Section Id : 632686496
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 6326864514 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



iii)Statistical Ability (Marks : 10)
Sl VLF 5L ylad (10 :biis)

The arithmetic mean of 68, 76, 64, 56, 48, 38, 44, 42 is

- U%42,568, 76, 64, 56, 48, 38, 44 .L> L~

(1) 62.5
(2) 54.5
(3) 56
(4) 58

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 142 Question Id : 6326864515 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

iii)Statistical Ability (Marks : 10)
Oudo L ‘__,_"vl_H’JI_n.?o (10 Z*LUL*E)



The arithmetic mean of the following frequency distribution is

_g.rﬁﬁuhfslfﬁgJ:fﬁbth

X 20 23 |25 28 |30
Prequ?ncy 9 5 10 6 1
R KPA

(1) 25.62
(2) 23
(3) 26
(4) 24.92

Options :
1. %1
2. %2
3.%3
4. v 4

Question Number : 143 Question Id : 6326864516 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

iii)Statistical Ability (Marks : 10)
Sl SLF 5L ylad (10 i)



The arithmetic mean of 13 quantities is 60. If the mean of the
first 7 quantities 59 and that of the last 7 is 61, the seventh

quantity 1is

Lot e 61678 598 T &1 6065113 lo koot

-

(1) 62
(2) 61
(3) 60
(4) 09

Options :

1. %1

2. %)

3.¥3

4. % 4

Question Number : 144 Question Id : 6326864517 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

iii)Statistical Ability (Marks : 10)
Bl JLF 3L ylad (10 :ils)



The median of data containing 11 observations is 15. If 8 more
observations 32, 33, 6, 9, 8 2, 19, 17 are added to the data,

then the median of the new data containing 19 observations is

I e 23232,33,6,9,8,2, 19, 178 4 2 1 15 sy LIF g lulze11

r

Kl s £ L 42195

(1) 16
2) 17
(3) 15
(4) 13

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 145 Question Id : 6326864518 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

iii)Statistical Ability (Marks : 10)
Godols Slo)y e (10 -<ulds)



The Median of 10, 11, 20, 15, 19, 20, 14, 16 is

(1)
(2)
(3)
(4)
Options :
1. %]
2. %2
3.%3
4.v 4

?.;:;t‘ﬁzzlh-qb’l 0,11,20, 15, 19, 20, 14,16

16
16. 5
15.5

Question Number : 146 Question Id : 6326864519 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

iii)Statistical Ability (Marks : 10)
Oudo s ‘__,_"vl_HaJI_n.?o (10 Z‘LUL:&)

The mode of 16, 22, 24, 18, 16, 19, 15 is

(1)
(2)
(3)
(4)

Options :
1. %1

LS mode 16, 22, 24, 18, 16, 19, 15



2.4
3. %3
4. % 4

Question Number : 147 Question Id : 6326864520 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

iii)Statistical Ability (Marks : 10)
Gl JLF 5L ylad (10 :liis)

The mode of the following frequency distribution is nearly

_.f,;.-i;modeufufj.,w?b’r‘:y L,(J'A;-.Q

Family size
i 1€ laila
NuTber of families g 10 A 4 3

Jla=d

1-3|3-0 |[o-7 8 A=

(1) 3.056
(2) 3.286
(3)
(4) 3.586

%]

. 486

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 148 Question Id : 6326864521 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

iii)Statistical Ability (Marks : 10)
Gl JLF 5L ylad (10 :liis)



A coin is tossed n times. If the probability that head occurs a

times is equal to the probability that tail occurs b times, then

n 1s

£z f..ﬂL.!JL!EJ!;!‘;{,:j}b ‘&L'K/’J-.GLIJL—!U'}!;{:;"J a.,fl ‘E—'ﬁ:UL{"I,._:/n ;(.J::..gi

(1)
(2)
(3)
(4)

Options :

1. %1

2.9

3.%3

4. % 4

_u'?‘:l"‘ ;:..'k-r'n;:_,,[?
a—b
a+b
b—a
2(a+b)

Question Number : 149 Question Id : 6326864522 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

iii)Statistical Ability (Marks : 10)
Godo s Sl e (10 :<ulis)



Two dice are thrown. The probability of getting the sum 9 is

_USE-(&L'E»IZ: Lﬁﬂ}!‘:i;ﬁg_%fﬂbjlsfdic €12

1
1 X
1
@ I
1
3 1
1
(4) -
Options :
1. %1
2. %2
3.¢3
4. % 4

Question Number : 150 Question Id : 6326864523 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

iii)Statistical Ability (Marks : 10)
Godols Slo) e (10 :<ulis)

If seven persons are to be seated in a row, then the probability

that two particular persons sit next to each other is

Il L i Le pas LI AIS v u.,.‘»‘_u_rgﬁ 2 MTATIL

(D) <
(2)
(3) 2
(@) -



Options :

1. %1

2.% 2

3.¥°3

4. % 4

Communication Ability

Section Id : 63268666
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 38
Number of Questions to be attempted : 38

Section Marks : 50
Enable Mark as Answered Mark for Review and Clear Response Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 632686497
Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 6326864524 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Meanings (Sentences with dashes) Q.No.151 to Q.No.155

One who knows many languages is known as a/an

(1) bibliophile
(2) polygamist
(3) polyglot
(4) absurdist

Options :

1. %]

2. %2

3.3

4. % 4

Question Number : 152 Question Id : 6326864525 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Meanings (Sentences with dashes) Q.No.151 to Q.No.155

The artist refused to compromise even on minor details. He was
therefore described as being

(1) vivacious
(2) irritable
(3) tedious
(4) fastidious

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 153 Question Id : 6326864526 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Meanings (Sentences with dashes) (Q.No.151 to Q.No.155

The court said that it cannot be of the plight of migrant workers.
(1)  oblivious

(2)  marginalised

(3) forced

(4)  sympathetic

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 154 Question Id : 6326864527 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Meanings (Sentences with dashes) (Q.No.151 to Q.No.155



Everyone was angry him for his misdeeds.

(1) upon
(2) on
(3) over
(4)  with
Options :

1. %]

2. %2

3.%3

4.9 4

Question Number : 155 Question Id : 6326864528 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Meanings (Sentences with dashes) Q.No.151 to Q.No0.155

He has to choose between two unfavourable alternatives. He is facing

a —

(1) farce

(2) disaster

(3) dilemma

(4) punishment
Options :
1. %1
2.% 2
3.3
4, % 4
Sub-Section Number : 2
Sub-Section Id : 632686498
Question Shuffling Allowed : Yes

Question Number : 156 Question Id : 6326864529 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Synonyms and Antonyms (Q.N0.156 to Q.No.160



Antonym of ‘Noble’

=

unnoble
ighoble

ennoble
disnoble

I~

i — — —
s oW
e i B

Options :
1. %1
2.2
3.%3
4, % 4

Question Number : 157 Question Id : 6326864530 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Synonyms and Antonyms (QA.No.156 to Q.No.160

The antonym of ‘tedious’

(1) pleasant
(2) bored
(3) tiresome
(4) hideous

Options :
1.¥ 1
2. %2
3.% 3
4. % 4

Question Number : 158 Question Id : 6326864531 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Synonyms and Antonyms (Q.No.156 to Q.No.160



The synonym of ‘proscribe’

prescribe
ascribe

banish
describe

— —, — ——
w D
Tt e St ot

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 159 Question Id : 6326864532 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Synonyms and Antonyms (A.No.156 to Q.No.160

The antonym of ‘affluence’

=

confluence
poverty
influence
wealth

[#8)

e I
B e S S

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 160 Question Id : 6326864533 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Synonyms and Antonyms (A.N0.156 to Q.No.160



Antonym of ‘extravagant’

(1) expensive
(2) convergent
(3) abundant
(4) frugal
Options :
1. % |
2. %
3.%3
4.4
Sub-Section Number : 3
Sub-Section Id : 632686499
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 6326864534 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Verb (Tense and Voice) Q.No.161 to Q.No.165

Passive voice of ‘Advertise the vacancy.’

(1
(2
(3
(4

Vacancy is advertised.
Vacancy has been advertised.
They advertised the vacancy.
Let the vacancy be advertised.

)
)
)
)

Options :
1. % 1
2. %2
3.% 3
4.9 4

Question Number : 162 Question Id : 6326864535 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Verb (Tense and Voice) Q.No.161 to Q.No.165



Active voice of “By whom was the poem composed ?”

By whom composed the poem?

The poem was composed by whom?
Who composed the poem?

The poem composed by whom?

[R]
B S e

Options :
1. %]
2. %2
3.3
4. % 4

Question Number : 163 Question Id : 6326864536 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Verb (Tense and Voice) Q.No.161 to Q.No.165

Passive voice of ‘Mother baked the cake.’

The cake was baked by mother.

The cake has been baked by mother.
Mother had baked the cake.

Cake had been baked by mother.

— e — —
w D
T e o e

Options :
1.¥ 1
2. %2
3.%3
4, % 4

Question Number : 164 Question Id : 6326864537 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Verb (Tense and Voice) Q.No.161 to Q.No.165



If it rains, | not come.

(1) did
(2) have
(3) had
(4) may
Options :

1. % 1

2. %2

3.%3

4. 4

Question Number : 165 Question Id : 6326864538 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Verh (Tense and Voice) Q.No.161 to Q.No.165

Insert present prefect tense of ‘win’
We the match.

(1)  were winning
(2) have won

(3) had won
(4) won

Options :

1. % 1

2.% 2

3.% 3

4. % 4

Sub-Section Number : 4

Sub-Section Id : 632686500
Question Shuffling Allowed : Yes

Question Number : 166 Question Id : 6326864539 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Phrasal Verbs & Idioms Q.No.166 to Q.No.170



‘To break ground’ means ‘to

stop
obstruct
commence
intercept

Options :
1. %1
2. %2
3.9 3
4. % 4

Question Number : 167 Question Id : 6326864540 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Phrasal Verbs & Idioms Q.No.166 to Q.No.170

‘To put to the sword’ means ‘to

(1) stay
(2)  sleep
(3) stir
(4) slay

Options :

1. % 1

2. %2

3.%3

4.9 4

Question Number : 168 Question Id : 6326864541 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Phrasal Verbs & Idioms Q.No.166 to Q.No.170



To keep up one’s spirits is not easy. Here ‘keep up’ means

(1) restrain
(2) retain
(3) strain
(4) pertain

Options :

N

2.¥2

3.%3

4. % 4

Question Number : 169 Question Id : 6326864542 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Phrasal Verbs & Idioms Q.No.166 to Q.No.170
Please and see me sometime.
(1) come round
(2) come by
(3) come up
(4) come off

Options :

1.¥ 1

2. %2
3. %3
4. % 4

Question Number : 170 Question Id : 6326864543 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Phrasal Verbs & Idioms Q.No.166 to Q.No.170



The army was outrun by the enemy’s fire power. Here ‘outrun’ means

(1) defeated
(2) confused
(3) amazed
(4) pleased
Options :
1.+ 1
2. %2
3.%3
4, % 4
Sub-Section Number : 5
Sub-Section Id : 632686501
Question Shuffling Allowed : Yes

Question Number : 171 Question Id : 6326864544 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Articles & Prepositions Q.No.171 to Q.No.175
He is not friend of mine.
(1) the
(2) a
(3) by
(4) on

Options :

1. %1

2.9 )

3. %3

4. % 4

Question Number : 172 Question Id : 6326864545 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Articles & Prepositions Q.No.171 to Q.No.175



He is inferior none.

(1) of
(2) into
(3) to
(4) on

Options :

1. % 1

2. %

3.¢3

4. % 4

Question Number : 173 Question Id : 6326864546 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Articles & Prepositions Q.No.171 to Q.No.175

| filled the cup ___ sugar.

(1) up
(2) an
(3)  with
(4) of

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 174 Question Id : 6326864547 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Articles & Prepositions (.No.171 to Q.No.175



He left Chennai to attend a wedding.

(1) over
(2) up to
(3) to
(4) for
Options :
1. %]
2. %)
3.% 3
4.4 4

Question Number : 175 Question Id : 6326864548 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Articles & Prepositions Q.No.171 to Q.No.175

He went a tour.

=

up on
over
up
on

i — p—
w D
B

Options :

1. % 1

2. %2

3.% 3

4.9 4

Sub-Section Number : 6

Sub-Section Id : 632686502
Question Shuffling Allowed : Yes

Question Number : 176 Question Id : 6326864549 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Computer Terminology Q.No.176 to Q.No.180



A Megabyte is a unit equal to

10,00,009 bytes
9,00,005 bytes

10,48,576 bytes
11,48,576 bytes

— — | p— —
W 2
e e e

Options :
1. % 1
2. %2
3.3
4, % 4

Question Number : 177 Question Id : 6326864550 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Computer Terminology Q.No.176 to Q.No.180

A device used to display information visually is known as

(1) modem

(2) monitor

(3) database
(4) folder

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 178 Question Id : 6326864551 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Computer Terminology Q.No0.176 to Q.No.180



Ethernet connects

) electric lines

) calculators
(3) computers

) turbines

Options :
1. %1
2. %2
3.3
4, % 4

Question Number : 179 Question Id : 6326864552 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Computer Terminology Q.No.176 to Q.No.180

A term applied to an e-mail message when it is returned as
undeliverable is known as ;

(1) bridge
(2) buffer
(3) bounce
(4) byte
Options :
1. % 1
2. %)
3.¢3
4. % 4

Question Number : 180 Question Id : 6326864553 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Computer Terminology Q.No.1/6 to Q.No.180



A saved link is also called a

(1) bookmark
(2) byte
(3) browser
(4) gateway
Options :
1.¥ 1
2. %2
3.% 3
4. % 4
Sub-Section Number : 7
Sub-Section Id : 632686503
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 6326864554 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Business Terminology Q.No.181 to Q.No.185

Where did TOM originate?

Germany
India
USA
Japan

. — — p—
w M
B L S S

Options :
1. %1
2.% 2
3.%3
4, % 4

Question Number : 182 Question Id : 6326864555 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Business Terminology Q.No0.181 to Q.No.185



Grapevine is a term used in relation to

(1) Formal communication.
(2) Informal communication.
(3) Complaint procedure.
(4) Confidential meetings.

Options :

1. %]

2.¥2

3. % 3

4. % 4

Question Number : 183 Question Id : 6326864556 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Business Terminology (Q.No0.181 to Q.No.185

The Stock Exchange that introduced “The Screen-based Trading
System” for the first time is

(1) Bombay Stok Exchange
(2) New York Stock Exchange
(3) NASDAQ
(4) National Stock Exchange
Options :
1. % 1
2. %2
3.%3
4.9 4

Question Number : 184 Question Id : 6326864557 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Business Terminology Q.No.181 to Q.No.185

A written message typically used in a professional setting is known as

(1) orders

(2) oral communication
(3) memorial

(4) memorandum

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 185 Question Id : 6326864558 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Business Terminology Q.No.181 to Q.No.185

GAAP stands for Generally Accepted Principles.

(1) accounting

(2) advisory

(3) accountable
(4) administrative

Options :

1.¥ 1

2. %2

3.%3

4, % 4

Sub-Section Number : 8
Sub-Section Id : 632686504
Question Shuffling Allowed : Yes

Question Id : 6326864559 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
H

Question Numbers : (186 to 190)

Read the Passage and answer the questions Q.No.186 to Q.No0.190



All comedy probably arises from our enjoyment of other people’s
mistakes. If we did not make mistakes, there would be nothing in the
world to laugh at. Hence, if we regard laughter as a blessing, we
should pay a tribute to error. In the history of the world the man who
makes mistakes has never been sufficiently appreciated. For all the
mirth he has given us we have repaid him with the basest ingratitude.
Of this ingratitude you will find evidence if you turn to punch and look
carefully at its admirable weekly collection of the errors of journalists
and printers. Not long ago, it was Punch’s custom to give the name of
the paper from which the misprint or mis-statement was taken. You
would imagine that any journalist or printer would have felt honoured
as one who added to the gaiety of the most heavily taxed of nations.
But it was otherwise, protests poured into the punch office. In aworld
that rightly appraised error, the newspapers would protest against this
an attempt to rob them of the credit of having increased human
happiness.

Sub questions

Question Number : 186 Question Id : 6326864560 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The origin of comedy is

(1) sorrow at other people’s faults

(2) seconding other people’s faults

(3) enjoyment of other people’s faults
(4) ininspiring other people’s faults

Options :
1. %1
2. %2
3.¥3
4. % 4



Question Number : 187 Question Id : 6326864561 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to the author, mistakes deserve to be

(1) condemned
(2) applauded

(3) punished
(4) forgiven

Options :
1. %1
2.2
3.% 3
4, % 4

Question Number : 188 Question Id : 6326864562 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The author feels sorry that we have repaid erring men with

(1) gratitude
(2) felicitations
(3) ingratitude
(4) gold

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 189 Question Id : 6326864563 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The misprints in ‘Punch’ were greeted with

(1) appreciation
(2) protests

(3) enthusiasm
(4) cheers

Options :
1. % 1
2.9 2
3.% 3
4, % 4

Question Number : 190 Question Id : 6326864564 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Laughter is a to humanity.
(1) curse

(2) hindrance

(3) blessing

(4) punishment

Options :

1. %1

2. %2

3.3

4, % 4

Sub-Section Number : 9

Sub-Section Id : 632686505
Question Shuffling Allowed : Yes

Question Id : 6326864565 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
: 0

Question Numbers : (191 to 195)

Read the Passage and answer the questions Q.No.191 to Q.N0.195



We are now face to face with class conflicts. There has grown up an
intense class consciousness with elements of suspicion and hatred,
envy and jealousy. Democracy is so interpreted as to justify not only
the very legitimate aspiration to bring a more equitable distribution of
wealth, but also the increasing tendency for a levelling down of all
talent. This is not possible. There will always be man of ability who
lead and direct, and others who will obey and follow. Itis not true that
all men are born equal in every way, and everyone is equally fit to
govern the country or till the ground. Every line of development is
specific and exclusive. If we wish to pursue one we shall have to turn
our attention away from others. While we should remove the
oppressive restrictions, dispel the ignorance of the masses, increase
their self-respect, we should not be under the illusion that we can
abolish the distinctions of the genius and the fool, the able organized
and the submissive worker. Modern democracies tend to make us all
mere ‘human beings’, but such beings exist nowhere.

Sub questions

Question Number : 191 Question Id : 6326864566 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is class-consciousness mixed up with?

(1) suspicion and envy
(2) humour and satire
(3) tragedy and horror
(4) comedy and benevolence

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 192 Question Id : 6326864567 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Levelling talent is

(1) democratic
(2) undemocratic
(3) legitimate

(4) lawful

Options :
1. % 1
2.9 2
3.%3
4, % 4

Question Number : 193 Question Id : 6326864568 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Are all men born equal?

(1) Yes.

(2) No.

(3) Definitely.
(4) Undoubtedly.

Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 194 Question Id : 6326864569 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Every profession is

(1) unique
(2) general
(3) inclusive
(4) routine

Options :
1.¥ ]
2. %2
3.% 3
4. % 4

Question Number : 195 Question Id : 6326864570 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Modern democracies conceive us as

(1) mere human beings
(2) geniuses

(3) fools

(4) monarchs

Options :

1.9 1

2. %2

3.%3

4, % 4

Sub-Section Number : 10

Sub-Section Id : 632686506
Question Shuffling Allowed : Yes

Question Id : 6326864571 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
: 0
Question Numbers : (196 to 200)

Read the Passage and answer the questions Q.N0.196 to Q.No.200



The other day, a motoristic friend of mine was complaining to me
bitterly even violently, about the behaviour of pedestrians. They were
abominably careless and stupid, he insisted. | hate to see anyone
agitated by a grievance, and | tried to soothe my friend by an appeal
to reason. | said, ‘No doubt we pedestrians are very trying. But you
must remember that, after all, we were on the roads for many, many
centuries before you came along in your splendid car. And remember,
itisn't we that are threatening to kill you. Itis you that are threatening
to kill us, and, if the worst comes to the worst, lay some flowers on
our graves.

We are constantly told by the press that we must be ‘traffic-
conscious’. But there is really no need to tell us we must be so. How
could we be otherwise? How not be concussion—-apprehensive,
annihilation-evasive, and similar compound words? Very old people
and very young people form the majority of those who are annually
slaughtered upon our roads.

Sub questions

Question Number : 196 Question Id : 6326864572 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The passage deals with the conflicting views of the

(1) motorists and the automobile industry
(2) motorists and their friends

(3) pedestrians and their spouses

(4) motorists and the pedestrians

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 197 Question Id : 6326864573 Question Type : MCQ Option Shuffling : No Display Question



Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The author dislikes to be disturbed by

(1) desires

(2) authorities
(3) grievance
(4) enemies

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 198 Question Id : 6326864574 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In saying, ‘if the worst comes to the worst, lay some flowers on our
graves’, the author is highly

(1) melancholic
(2) ironical

(3) jubilant

(4) lyrical

Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 199 Question Id : 6326864575 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Traffic-consciousness is

(1) inborn

(2) superimposed
(3) instigated

(4) learnt

Options :
1.9 1
2. %2
3.%3
4. % 4

Question Number : 200 Question Id : 6326864576 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The motorist felt that pedestrians were basically

(1) meticulous
(2) conscious
(3) disciplined
(4) apathetic

Options :
1. # 1
2. %2
3.%3
4. 4



